SF5F4H 238 FTOEM T

BEHFEIZONT

BRBERZEORBRICOVNTIE, FTRROEBYTY,

EE
1 BREER
LEHEER | BREH EEER BEE |WEMHI)RER

] 45,583 21,571 24012| 4732 |50.98%
E-S 52,030 25772 26.258| 4953  |53.30%
& 97,613 47,343 50270| 4850  |52.22%

2 HRMBER

SEEMRH | AYREH | BEIREY |BoRYTOM EEEER |#FEYRIE

47343 46963 377 3 434.842 173.937

HEOR | P | MBI | FE | R g (W BEH
= R viun | B 72 ER b EmMMERER 2393
= WH #o8 | B | 67 EATIR B WLSEARE RES 2104
E HXot- tEfE 5 46 | IERER # ileNcA] 2061
= hE kL3 | B 41 EAE # Fdic 1962
= Fz72 Y5 | B | 28 | ERERE® o | T meER 1918
= WA Hifa | X | 54 ALk # EBEBEHTI—5UR 1755
E =k vFL | B | 65 | ERRER B EETERER 1753
= s5O E= 5 66 NHRE B EMTERER 1683.744
= A% ($5k0 | B Al &R b ET—IR B 1611
= bk HEH 5 67 BAR b EfRTHEREE 1610
= mobe m— | B 62 EFRE 7T BEXBDHRE RS 1548
= CHME & k2 52 | EREIXR # AREHHRRES 1502.193
e WaE x| B 55 | BREXR b2 EMMERER 1485
= B t-12ho | B | 65 EARIR ) B 1464.876
= VzLE <z | X 63 AL b2 EMMERER 1452
E e Hans| B | 57 | BERRER B toa—HWEHE 1438
& TE £ B | 11| BARER B ERTERER 1385
= B S 5 | 67 | ERRx®R ) EmTESER 1384.773
El INEF F=pL E] 56 &R IT TR RBETE 1383.255
= i Bk | X | 58 BAR ) EmTTESER 1365
£ Wl &L | B 47 TR 23] THEL 1314
= =@ Lfue | B | 33 AR # Ead ] 1300
= HAats BH 5 56 ER B EMMERER 1277
= ER &bC Z | 67 | ABRER ) EETTESER 1236.806
= Ui s 2| s | ®mFE B |gamEmE 1089
= wiE tYyo | B | 4 BT # FILINAk 1065
£ ALY ESE 8 67 &R 7] ERMESEE 1053.349
% Z5E L xz 44 | AEREFR 3 FHAF— NI 1014
% BE LiS0s | B 4 | ERRER # BE S U RHE) 950
% BhO HE g 70 ETRE # R 844
* B BB 5 74 |BAHEHFOR T SRS 819
& WA == 8| 13 TR #H KBTI R I 747
% KFE == 5 57 ERE T SR, 633
% &5 sLox | B 44 LIP Ei RHEKE 362




